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TEFRZR  Brrors and Corrections
BFHETTN, FTIEZBHVLET,  Please see below for a list of errors and corrections.  Thank you.
RS 7 = E
Page Line Errors Corrections
33 L 8ATH Both A and B are~ A is ~ than B.
73 Y 54TH forth-year fourth-year
75 H131TH published of of % HIkx
inthe Z A#1%
137 KL 41TH Interest in advertisements [One kinds Methods of effective advertisements
of categorical data] [Two kinds of categorical data]
140 FNSCRAAT IV xm7 Yy LET 7Yy LET
143 X TG 2 P<0.05 HiviE P<0.05 Thiud
iTH
144  FIXL—F T D =& 20, £ 1O PEEHE Y Tl 2E, £ 1O PlEE#GY 7 TR D
Bty 7 bk D&, P=0.00278 + + | &, P=0.07705- - TL7z, Z DL P>0.05
Tl ZOIZP>0.01 TF2 TE2b, BrMo MKir) & KER0) ©
O, BB i) & vy o ICEEEERS Y A, UL, 7T—F0D
WIITHEBEEND Y 3, iU,  BlEL etz b~5 &, kie) & MRERV
TR ORME TR AL L, KT OARARERRVE WS ERTT, Ly
XS bO% T RAR L, P<O0.1 TE2 6, FEERAH L EE D
Mpx )ALV S, KiZ2D | SENTEET, 2FED, TAa—L % TR
BT D EW BHKRTT, ANDOEIEITBHEDIT D B3 &tE X 0 LV A
bo LI EKRTT,
144 ¥ —F FD | For example, utilizing statistical For example, utilizing statistical software, the P
233 software, the P value of Table 1 was | value of Table 1 was P=0.07705... This value is P
P=0.00278... This value is P < 0.01. > 0.05. Therefore, the difference is not
Therefore, the  difference is | significant between “drink” and “do not drink” for
significant between “likes” and . men and women.
“dislikes” of men and women. It This means that there is not a significant
means that there are more men who @ difference relating “drink” and “do not drink.”
“dislikes”a certain thing than who However, you can say that there is a tendency
“like”it, and that women are the because of P < 0.1. In other words, it means that
opposite of this. there is a tendency that more men than women
“drink” alcohol.
147 F 4 N KP4 4FE 5 IEA4E AFE 50
147 4N IR e 6 IR e 26
156 HEXL 8ITH P=0.00056. P=0.00022.
161 HEL141TH The first data row The first data column
164 X 54TH 12=0.9553. 2 =FThEL,
’=0.9553.
166 B 9FTH on. SCRD on DHEITHET Do
on the menu bar.
169 YL 44TH on the Task Bar. on the toolbar.
177 | R @DHETHE @® Wirh e With
3 fEifT
178  KRABLFED female > male RES O E BRI L RR D,
EN female < male
179 HEX11THE differences differences differences
TATH




